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SARDAR PATEL UNIVERSITY 

BCom. (III-Sem.) EXAMINATION 
Saturday, 29th December, 2012  

10.30 am to 12.30 pm 
US01CBCA02 : Computer Organization 

                 Ly$g NyZ : 60 

_p¢^ : S>dZu bpSy> âñ_p NyZ v$ip®h¡ R>¡. 
 
 

â.1(A) dprlsu_p sÒhp¡ kdÅhp¡.  ^„̂ pdp„ dprlsu_y„ dlÒh `Z S>Zphp¡. (07) 
     (b) _uQ¡ 30 rhÛp\}Ap¡A¡ A¡L$ `funpdp„ d¡mh¡gp NyZ Ap`¡gp R>¡. (08) 
  7 18 37 53 24 39 27 11 43 93 40  
  68 21 19 32 75 52 84 81 45 79 92  
  29 52 53 8 41 14 26    A_¡  26  
 A\hp  
â.1(A) Aph©rs rhsfZ A¡V$g¡ iy„ ?  hN}L$fZdp„ r_hpfL$ A_¡ Ar_hpfL$ `Ùrs 

kdÅhp¡. 
(07) 

     (b) _uQ¡ 33 rhÛp\}Ap¡_p hS>_ (qL.N°p.)_u dprlsu Ap ¡̀g R>¡.  s¡ `f\u ep¡Áe 
Aph©rs rhsfZ s¥epf L$fp¡.  

(08) 

  42 74 40 60 82 115 41 61 75 83 63 53 79  
  110 76 84 50 67 65 78 77 56 95 68 69  
  104 80 79 54 73 59 81  A_¡   100  
   
â.f(A) Å¡ M=25 lp¡e sp¡ _uQ¡_p ApL©$rs rhsfZ_u MyV$su ApL©$rsAp¡ ip¡^p¡. (07) 
 hN® :  0-10 10-20 f0-30 30-40 40-50  
 Aph©rs :  14      ?     26        ?     15 

 Ly$g 100 
 

     (b) _uQ¡_u dprlsu dpV¡$ Q3 A_¡ Z d¡mhp¡.  (08) 
 hN® :    0-10   10-20   f0-30 30-40   40-50   50-60   60-

70  70-80 
 

 Aph©rs :   `       9  8     11 13  10      3    1  
 A\hp  
â.f(A) _uQ¡_p dpV¡$_p k|Óp¡ Ap`p¡.  (i) rhõspf  (ii)  Qsy\®L$ rhQg_  (iii) âdprZs 

rhQg_ (iv)  rdî â.rh. A_¡ (v) Qg_p„L$   
(07) 

     (b) _uQ¡_u dprlsu dpV¡ Qg_p„L$ ip¡^p¡.   (08) 
  hN® :    80-90   90-100   100-110   110-120   120-130   

130-140    
  

 Aph©rs :   6          18  78       80  100      72        
 hN® :  140-150   150-160   160-170  
 Aph©rs :          30   10         6  



 

   
â.3(A) b¡ `fõ`f r_hpfL$ OV$_pAp¡ dpV¡$ k„cph_p_y„ âd¡e v$ip®hu kprbs L$fp¡. (07) 
     (b) ÅÞeyApfu 2013_p drl_pdpdd„ ` ir_hpf dm¡ s¡_u k„cph_p ip¡̂ p¡. (08) 
 A\hp  

 

â.3(A) âQrgs k„L¡$sp¡dp„ b¡ _uf`¡n OV$_pAp¡ dpV¡$ k„cph_p_y„ NyZpL$pf_y„ âd¡e v$ip®hu 
s¡_u kprbsu Ap`p¡.  

(07) 

     (b) A A_¡ B Å¡ _uf ¡̀n OV$_pAp¡ lp¡e A_¡ Å¡ P(A) = 1 2  A_¡ P(B) = 1 5  lp¡e 
sp¡       P(A U B) ip¡̂ p¡. 

(08) 

   
â.$4(A) âdpÎe rhsfZ_y„ NprZrsL$ õhê$` Ap`p¡ A_¡ s¡_p dy¿e R> NyZ^dp£ S>Zphp¡. (07) 
      (b) Å¡ A¡L$ `p¡ek_ Qg dpV¡$  3p(x=2) = p(x=4) lp¡e sp¡ s¡_p¡ dÂeL$ A_¡ 

rhQfZ d¡mhp¡.  
(08) 

 A\hp  
â.$4(A) Å¡ A„L$ qÜ`v$u Qg dpV¡$ n=10 A_¡ p(5)=2p(4) lp¡e sp¡ P ip¡^p¡. (07) 
      (b) A¡L$ âdpÎe rhsfZdp„ 31% âpàsp„L$p¡ 45 L$fsp„ Ap¡R>p A_¡ 8% âpàsp„L$p¡ 64 

L$fsp h^y R>¡.  Sp¡ s¡_p¡ dÂeL$ A_¡ âdprZs rhQg_ d¡mhp¡.  
(08) 
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